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St. Mary’s School, Dwarka 

Holiday Homework 

Class VII 

Subject: English  

I Read the following passage carefully:               5

 THE CUP THAT CHEERS 

If you’re addicted to coffee and doctors warn you to quit the habit, don’t worry and keep relishing the beverage 

because it’s not that bad after all! In fact, according to a new study, the steaming cup of java even beat fruits 

and vegetables as the primary source of antioxidants. The study by the University of Scranton states that coffee 

is the best source of antioxidants in American diet, and both caffeinated and decaf versions appear to provide 

similar antioxidant levels.  

 “Americans get more of their antioxidants from coffee than any other dietary source. Nothing else comes close 

to it” said the study’s lead researcher, Doctor Joe Vinson, adding that high antioxidant level in food and 

beverages don’t necessarily translate into levels found in the body. Antioxidants in general have been linked to 

a number of potential health benefits, including protection against heart disease and cancer. Vinson said that the 

benefits ultimately depend on how they are absorbed and utilised in the body.  

The researchers analysed the antioxidant content of more than 100 different food items, including vegetables, 

fruits, nuts, spices, oils and common beverages. The data was compared to an existing US Department of 

Agriculture database on the contribution of each type of food item to the average estimated US per capita 

consumption.  

The results were surprising. Coffee came out on the top, on the combined basis of both antioxidants per serving 

size and frequency of consumption. It outranked popular antioxidant sources like tea, milk, chocolate and 

cranberries.  

Of all the foods and beverages studies, dates actually have the most antioxidants of all based solely on serving 

size, but since dates are not consumed at anywhere the level of coffee, the drink comes as the top source of 

antioxidants, Vinson said.  

Besides keeping you alert and awake, coffee has been linked to an increasing number of potential health 

benefits, including protection against liver and colon cancer, type II diabetes, and Parkinson’s disease, 

according to some recently published studies. 

The researchers, however, advised that one should consume coffee in moderation, because it can make you 

jittery and cause stomach pains.  

 On the basis of your reading of the passage, answer the questions given below.                            (1 x4=4) 

Q1. What is the good news about coffee? 

Q2. What are the benefits of antioxidants? 

Q3. How are dates better than coffee? Why have they not made it to the top of antioxidant rich foods?  
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Q4. What are the potential health benefits of coffee?  

Q5. Find words from the passage that mean the same as the following.                                                (4 x¼ =1) 

a.   to enjoy eating 

b.   a drink  

c.   the avoidance of excess or extremes 

d.   nervous or unable to relax 

II Read the sentences given below and choose the correct option to fill in the blanks.                 (5 x 1=5) 

Q6 Prajakta does her work_____________. She does not need to be reminded.    (1) 

a. daily 

b. quickly 

c. softly 

d. slowly 

Q7. The streets will be crowded __________villagers during the harvest festival.    (1) 

a. of 

b. on 

c. with 

d. for 

Q8. We _________ definitely look into the matter”, the officer affirmed.     (1) 

a. need to 

b. ought to 

c. will 

d. dare to 

Q9. After we _______ around the exhibition, we __________ for coffee.     (1) 

a. look / going 

b. looked / go 

c. look /would go 

d. are looking / went 

III Convert the following sentence into passive voice. 

Q10. The labourers have called off the strike.   

a. The strike has called off by the labourers. 

b. The strike has been called off by the labourers. 

c. The strike have been called off by the labourers. 

d. The strike has being called off by the labourers. 

IV Answer the following question in 10-15 words.                                                                               (1) 

 Q11. How did Mani come out of the examination hall? 
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V Answer the following questions in 20- 30 words.                                                                 (3 x 2= 6)                                                                            

 Q12. Describe the cake prepared by the cook for Bruce Bogtrotter.                                                    

 Q13.Why did the Prince decide to have pigs in his park? Why was there a murmur of approval at the  

          excellence of the Prince’s decision?                                                                                              

 Q14. Who was Singaram? What did he do when he was given the offer to dye his turban?    

 

 VI Answer the following question in 40- 50 words.                                                                            (3) 

 Q15. How did the children’s behaviour change towards Bruce?                                                           

 

Subject-Hindi 

                           

inamnailaiKt p`SnaaoM ko ]%%ar sahI ivaklp caunakr dIijae —                   ³1×5Ä5´                                              

  

P`aSna 1 ‘Qamaa-%maa’Sabd ka sahI saMiQa–ivacCod bata[e.                         

    1 Qama-†Aa%maa     

    2 Qarma†Aa%maa    

    3 Qamaa-†Aa%maa    

    4 Qama†rAa%maa    

P`aSna 2 vaa@ya ko iktnao AMga haoto hOMÆ                                     

    1 dao      

    2 caar   

    3 tIna     

    4 paM̂ca   

P`aSna 3 mana ko BaavaaoM kao p`kT krnao vaalao Avyaya…… khlaato hOM.              

   1 saMbaMQabaaoQak      

   2 ik`yaa ivaSaoYaNa  

   3 ivasmayaaidbaaoQak   

   4 samauccayabaaoQak 

P`aSna 4 ivadoSaI maihlaaAaoM nao naIlakMz kao @yaa ]paiQa dIÆ                      

    1 maharajaaiQaraja   

   2 prfO@T jaoMiTlamaOna 
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   3 pxaIraja      

   4 saMgaIt sama`aT 

P`aSna 5 kRYNa kao jagaanao ko ilae d\vaar pr kaOna KD,o hOMÆ                           

    1 yaSaaoda             

    2 gaaoipyaâM 

    3 dova AaOr danava     

    4 raoTI–maaKna  

P`aSna 6 ir@t sqaanaaoM kI pUit- ]icat Baavavaacak saM&a SabdaoM sao kIijae —          (1/2×4=2)                       

     1 yah kama Syaama……… sao kr laogaa.³saugama´ 

     2 kRYNa saudamaa kI …… maSahUr hO.³ima~a´ 

     3 ]Yaa kao bahut  ……… laga rhI hO.³gama --́  

     4 ]sakI Aavaaja maoM ……… hO.³maIza´ 

P`aSna 7 inamnailaiKt mauhavaro AaOr laaokaoi@t kao vaa@yaaoM maoM p`yaaoga kIijae—       (1/2×4=2)                       

    1 naIcaa idKanaa   2 AMQaa @yaa caaho dao AaÐKo 

P`aSna 8 ide gae vaa@yaaoM maoM sao ivaSaoYaNa Sabd Ca^Tkr ]sako Baod ilaiKe —       (1/2×4=2)                       

      1 Amana nao caar saoba Kae. 

     2 mauJao qaaoD,a–saa dUQa caaihe. 

     3 saUT ka kpD,a saundr hO. 

     4 vah bandr poD, pr baOza hO. 

P`aSna 9 inamnailaiKt vaa@yaaoM maoM sao ik`yaa Sabd Ca^MTkr ilaiKe—                         (1/2×4=2)                                                                 

     1 pxaI AakaSa maoM ]D, rho hOM. 

     2 GaaoD,a Gaasa Ka rha hO. 

     3 maailana paOQaaoM kao saIMca rhI hO. 

     4 vah saaokr ]z gayaa hO. 

                                                                                                                   

P`aSna 10 naIlakMz ko ikna kayaao-M sao laoiKka bahut AanaMidt AaOr p``Baaivat haotI qaIÆ     (1×3Ä3)    

P`aSna 11 saubah jagato samaya Aapkao Apnao Aasa pasa ka vaatavarNa kOsaa lagata hOÆ         (1×3Ä3)                      

P`aSna 12 duyaao-Qana ka hRdya glaaina AaOr xaaoBa sao @yaaoM Bar gayaaÆ                (1×2Ä2) 

                

P`aSna 13 saMkot ibaMduAaoM ko AaQaar pr 60 sao 80 SabdaoM maoM AnaucCod ilaiKe ─     (1×3Ä3)     

  pustk AaOr ]pnyaasa — 1BaUimaka  2 &ana ko p`tIk  3 ]psaMhar  

 

P`aSna 14 dao ima~aaoM ko baIca‘p`dUYaNa kI samasyaa’kao laokr hao rhI baatcaIt kao 70 sao 80 SabdaoM maoM saMvaad ko 

$p maoM ilaiKe.                                             (1×3Ä3)    
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P`aSna 15 ide gae ica~a ka 80 sao 100 SabdaoM maoM vaNa-na kIijae.                (1×3Ä3) 

                   

 

 

Subject- Sanskrit 

 

 AQaaoilaiKtM bahuvaOkilpk p`Snaanaama\ ]icatM ]%trM icanaut  –               (1x5=5)    

 p`Sna 1  Aa%maanaM k: na dhit Æ 

          ³k´ pavak:  

          ³K´ Sas~aaiNa 

          ³ga´ maa$t: 

          ³Ga´ vaair 

p`Sna 2  Ca~aO: ikM %ya@tvyama\ Æ 

           ³k´ pznama\  

           ³K´ Aalasyama\  

           ³ga´ sa%yama\  

           ³Ga´ inayamapalanama\ 

p`Sna 3  Kgaa: kaoTro ikma\ ApSyana\ Æ 

           ³k´ tRNaaina 

           ³K´ AsqaIina 

           ³ga´ pxaaiNa 

           ³Ga´ Saavakana\ 

p`Sna 4  ‘Aacaaya -:’ [%yasya ikM pyaa -yapdM pazo p`yau@tma\ Æ 

           ³k´ d`aoNa: 

           ³K´ ]paQyaaya: 

           ³ga´ gau$: 

           ³Ga´ inapuNa: 

p`Sna 5  ‘AakNya -’ [it pdo k: p`%yaya: Æ 

           ³k´ Nyat\ 

           ³K´ yat\ 

           ³ga´ lyap\ 

           ³Ga´ tvyat\ 
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Pa`Sna 6 kaoYzko p`d<aO: ]icat saM#yaa pdO: ir@tsqaanaaina pUryat–          (1/2x4=2) 

       ³1´  pSya¸pSya²  ------ Aama`flaaina t~a saint.( 67 ) 
       ³2´  mama samaIpo  ------  $PyakaiNa saint . ( 78 ) 
       ³3´  ------ janaa:  Ba`maNaaya kaSaI nagaro AgacCna\. ( 61 )            
            ³4´ saBaayaama\ ------   janaa: itYzint.(80 )     

   

Pa`Sna 7 maHjaUYaayaaM p`d<aO: ]icat AvyayapdO: ir@tsqaanaaina pUryat–               (1/2x4=2) 

  maHjaUYaa –     Aip ¸    ekda ,    t~a ¸   ikma\  

       ³1´ %vama\  ------  pzisa Æ 

       ³2´  ------ baailaka: Kolaint.  
       ³3´  ------  ek: vaanar: vaRxasya ]pir kUd-it. 
           ³4´ Ahma\ ------ gaItma\ gaasyaaima.  
Pa`Sna 8 AQaaoilaiKtoYau ir@tsqaanaoYau p`kRit p`%yayaM saMyaaojya vaa@yapUit- ku$t–     (1/2x4=2) 

        ³1´ ica~akar: ica~ama\  ------  ( rca\ † tumauna\  )]Vanama\ gacCit. 

       ³2´ Eaimaka: kUpma\ ------ ( Kna\ † @%vaa   ) jalama\ inaYkasyaint.   
       ³3´ maihmaa gaRhkaya-ma\ ------  ( kR† @%vaa ) Kolait.        

       ³4´ iptamaih ------ ( Aca-†tumauna\   ) dovaalayama\ gacCit.  
p`Sna 9  roKaMikt pdma\ AaQaR%ya p`SnaM inamaI-yatama\ –              (1/2x4=2) 

         ³1´ Aa%maanaM Sas~aaiNa na iCndint. 

         ³2´ AQyaapk: Ca~aO: sah vaata-laapM kraoit. 

         ³3´ d`aoNaacaaya-: kaOrva-paNDvaanaama\ gau$: AasaIt\.  

             ³4´ sa: Kgaana\ Avadt\.   

Pa`Sna 10  ivalaaomapdanaama\ prsprM maolanama\ ku$t  -                                     (1/2×4= 2)                                                                                             
             ³1´   Qama-sya           iSaYya: 
            ³2´   sa%yama\          Ant: 

   ³3´   baih:            AQama-sya 

         ³4´   gau$:            Asa%yama\ 

Pa`Sna 11   Qaatu $paiNa ilaKt –                        (1/2x6=3) 

       ³1´  ‘ rxa\’ Qaatu- laMga lakar:, ]%tma pu$Ya:. 

       ³2´ ‘ nama\’ Qaatu- laaoT\ lakar:,p`qama pu$Ya:. 

        

Pa`Sna 12   Sabd $paiNa ilaKt –                               (1/2x6=3) 

              ³1´     ‘yauYmad\ ’ Sabd iWtIyaa ivaBai@t: .   

       ³2´    ‘mait ’ Sabd   tRtIyaa ivaBai@t:. 
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Pa`Sna 13  ]icataina pdaina ica%vaa AQaaoilaiKtM  saMvaadM  pUryat  —             (1/2x6=3) 

      

 maHjaUYaa  —  P`aitidnaM , Kaidtuma\  ¸AV ,  svaasqyaaya ¸  Saakma\  ¸[cCaima                             

         pu~a: ¹  maat:²  [1] ------  ikma\ Baaojanama\ pcaisaÆ 

          maata -   pu~a² Ahma\  [2]------  raoiTkama\ ca pcaaima. 

      pu~a:  ¹  %vama\ [3]------  Saakma\ eva pcaisa  .        

      maata – %vama\ Anyat\ ikma\  [4]------  [cCisa. 

      pu~a:  ¹ AV Ahma\ ‘baga-r’ [it Kaidtuma \  [5]------  . 

      maata  ¹ prM tt\ tu [6]------ Aihtkr: Aist. 

      pu~a:  ¹  Ateva %vama\ hirtma\ Saakma\ pcaisa Æ   

      maata –  Aama\.hirtma\   Saakma\ svaasqayaaya laaBakarI Bavait .            

P`aSna 14  maHjaUYaayaaM p`d%tM pdanaama\ sahayatyaa ima~aM p`it p~ama\ ilaKt —        (1/2x6=3) 

 
 maHjaUYaa  —   sap`oma namaaonama: ¸   maasasya ¸  Avasaro ,     mama ¸    &a%vaa   ,  ima~aaiNa                                      

 

                                                          navaidllaIt: 
                                                           itiqa: 25.01.2021 

            ip`ya ima~a maQaur: , 

             [1]------. 

       A~a kuSala t~aastu.etd\ [2]------ Bavaana\ AtIva p`sannaao BaivaYyait yat\ [3]------ jyaoYz Ba`atu 

ivavaah: Aiga`ma [4]------ pHca itqaaO inaiScat: Bavat:.[dM ivaSaoYa [5]------BavataM ]pisqait sapirvaaroNa sah 

]pisqait: Ainavaayaa- Aist.Asmaakma\ Anyaaina [6]------ Aip AagaimaYyaint.BavataM p`tIxaayaama\.gaRho maata 

ip~aao: carNayaao:  mama p`Naama:. 
  tva  ip`ya ima~ama\ 

  mahond` 

p`Sna 15  ica~aM dRYTvaa d%tpdanaaM  sahayatyaa ir@t sqaanaaina pUryat —          (1/2x6=3) 
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maHjaUYaa —  ]Vanama\ ,  vaRwa , p`sannaa: , vaRxa: , puYpaiNa , baalaka:  , 

      ³1´   Aismana\ ica~ao ekma\ …………… Aist. 

            ³2´   t~a……… baailaka: ca Kolaint. 

         ³3´   to …………… saint. 

   ³4´   kaYzpIzo eka ………… itYzit. 

         ³5´   ya~a–t~a …………… ivaksaint. 

       ³6´   ]Vanao hirt: …………… Aist.    
 

 

Subject : Mathematics  

 

General Instructions: 
1. Q (1- 4) are multiple choice questions carrying 1 mark each. 

2. Q (5 & 6) are case study-based questions, each carrying 4 sub-parts of 1 mark each. 

3. Q (7- 10) are of 2 marks each. 

4. Q (11- 13) are of 3 marks each. 

5. Q (14 & 15) are of 4 marks each. 

 

Q1:  What percent of 2/7 is 1/35          (1) 

(a) 2.5 %                  (b) 10%                    (c) 25%                    (d) 20% 

Q2:  The area of a right angled triangle is 40 times its base. What is its height?     (1) 

(a) 45 cm                  (b) 60 cm                 (c) 80 cm                 (d) 20 cm 

Q3:  A car is moving at an average speed of  3
1

9
 Km/hr. How much distance will it cover in 5

1

7
 hours?  (1) 

(a)  15 Km                 (b) 16
8

9
 Km              (c) 16 Km                (d) 8

16

63
 Km 

Q4:  Bob sold his watch for ₹190, thus bearing a loss of 5 %.What is the cost price of the watch?  (1) 

(a) ₹ 237.50               (b) ₹ 220                 (c) ₹ 210                  (d) ₹ 200 

Q5:  A picnic is being planned in a school for Class VIII students .  The Girls in the class are 60% of the total 

number of students and are 18 in number. The picnic site is 55 km from the school and the transport company 

is charging at the rate of  ₹ 12 per km. The total cost of refreshments is ₹ 2080.  Based on the above 

information answer the following questions :       

(i)  What is the  ratio of the number of boys to the number of girls in the class?       (1)  

(a) 2:3                         (b) 3:2                     (c) 3:4                      (d) 4:3 

 (ii)  What will be the cost per head of refreshment  if two teachers are also going with the class?   (1) 

(a) ₹ 60                       (b) ₹ 65                   (c) ₹65.50              (d) ₹ 67 

(iii)  If their first stop is at a place 16.5 km from the school, what percent of the total distance is left to be 

covered?              (1) 
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(a) 30%                       (b) 40%                   (c) 70%                 (d) 35% 

(iv)  What is the total cost of refreshment and transportation?      (1) 

(a) ₹ 660                   (b) 2740                (c) 2860             (d) 2815  

Q6:  There was a deserted land near Rajesh’s house. The colony people used to throw garbage on that land. 

Rajesh along with his friends contacted the people of the colony and they all decided to develop the land into a 

park with a walking track where the children can play and elders can walk. Based on the above information and 

the given figure, answer the following questions : 

 

(i) What is the perimeter of the park?        (1) 

(a) 174 m                             (b) 234 m                         (c) 136 m                    (d) 156 m 

(ii) What is the area of the park?         (1) 

(a) 995 sq.m                         (b) 1050 sq.m                  (c) 1080 sq.m              (d) 1056 sq.m 

(iii) What is the area of the walking track?        (1) 

(a) 444 sq.m                         (b) 440 sq.m                    (c) 314 sq.m                (d) 350 sq.m  (1) 

(iv)  What is the cost of developing the park at the rate of  ₹ 30 per sq.m?    (1) 

(a) ₹ 30, 240                     (b) ₹ 31,680                 (c) ₹ 28,630             (d) ₹ 30,610 

Q7:  Convert each part of ratio 2:3:5 to percentage.           (2)                                                                 

Q8:  Simplify :           (2) 

        ( 
2

7
 x 

−4

11
 ) divided by ( 

−5

22
 x 

11

7
 )                                                                                               

Q9:  If an alloy of brass contains 65% copper and the rest is zinc, find the weight of zinc in 200 g 

        of brass.           (2)                                

Q10: Explain why ∆AOB ≅ ∆DOC in the given figure. Also write                                                                                      

        the congruence criterion used.        (2) 

                                                              

Q11: The area of a parallelogram is equal to the area of a square whose perimeter is 140 cm. If    the height of 

the parallelogram is 25 cm, then find its corresponding base.           (3)                                  
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Q12:  Arrange the following rational numbers in descending order :          (3)                                  

      (a)  
3

4
 , - 

11

8
 , 

9

16
      (b)  - 

9

6
 , - 

4

3
 , - 

17

12
                        

Q13:  In the given figure, AB = AC and AD is the median of ∆ABC.     (3)                                  

(a) State three pairs of equal parts in triangles ∆ADB and ∆ADC. 

(b)  Is ∆ADB ≅ ∆ADC? Give reasons.  

(c)  Is ∟B = ∟C? Give reasons.             

Q14:  A rectangular plot measures 25 m x 20 m. Two cross paths each 1 m wide are constructed                                                                      

at right angles through the centre of the field, such that each path is parallel to one of the sides of the rectangle. 

Find the total area of the paths by drawing a neat figure.                  (4)                                           

Q15(a): At what rate of simple interest will ₹ 350 amount to ₹455 in 6 years?                                   (2) 

(b): A toaster which costs Rs 1550 is sold for Rs 1325 in a sale. Find loss% in this transaction.    (2) 

 

Subject: Science   

 
Objectives: 

To ensure revision of concepts. 

*Attempt the questions keeping in mind the weightage of each question. 

(1) Answer the 1mark questions in 5-10 words. 

(2) Answer the 2marks questions in 10-20 words. 

(3) Answer the 3marks questions in 20-30 words. 

 * Attempt your worksheets in the science notebook, scan the notebook and mail the pdf to the respective 

teachers.  

 

Q1. Selective breeding is the process of _________.                                                               (1) 

(a) selecting the offspring with desired properties 

(b) selecting the parents with desired properties 

(c) selecting an area for breeding 

(d) selecting fine hair for good quality wool. 

Q2. A fire alarm usually detects smoke in case of fire. Where should such an alarm be placed in a room? (1) 

(a) Near the door 

(b) On the floor 

(c) On any wall 

(d) On the ceiling 
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Q3. A flag mounted on a flag post near the sea coast flutters in the direction of sea. At what time of the day 

does this happen?                                                                                               (1) 

a)  In the morning due to land breeze 

b) In the evening due to sea breeze 

c) At the midnight due to land breeze 

d) In the afternoon due to sea breeze   

Q4. A bus travels 54 km in 90 minutes. The speed of the bus is                                             (1) 

(a) 0.6 m/s 

(b) 10 m/s 

(c) 5.4 m/s 

(d) 3.6 m/s 

Case Study 

Q5. Observe the figure carefully answer the following questions. Jar A has a plant, Jar B has both plant and a 

few rats and Jar C has few rats only.  

In which jar, will the amount of CO2 be the highest and why?                                          (1) 

a) Jar A because plants produce carbon dioxide at night. 

b) Jar B because rats and plants will produce more carbon dioxide. 

c) Jar C because rats take in oxygen in release carbon dioxide. 

d) All jars will have equal amount of carbon dioxide. 

A.  In which jar, will the amount of CO2 be the lowest and why?                                           (1) 

a) Jar A because plants consume carbon dioxide for photosynthesis. 

b) Jar B because carbon dioxide produced by rats will be taken by the plant. 

c) Jar C because rats use more oxygen than carbon dioxide. 

d) All jars will have equal amount of carbon dioxide. 

B. What happens to the concentration of carbon dioxide if we put yeast in each of the jars?   (1)  

a) The amount of carbon dioxide increases in all jars. 

b) The amount of carbon dioxide decreases in all jars. 

c) The amount of carbon dioxide remains same in Jar B. 

d)   The amount of carbon dioxide increases in Jar A drastically. 
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C. Which of the following processes are taking place in the above jars?                               (1) 

a) Respiration and photosynthesis 

b) Respiration and transpiration 

c) Reproduction and respiration 

d) Excretion and reproduction 

Q6. To expel hot air out of the kitchen, ‘A’ has an exhaust fan fitted on the window of her kitchen and ‘B’ has a 

similar exhaust fan fitted on the wall near the ceiling of her kitchen. Which of the exhaust fan will expel the hot 

air more effectively? Explain why?                                             (2) 

Q7. Priya while moving in a forest observed that there was no noise pollution, though lots of heavy vehicles 

were passing from the nearby highway. Explain why?                                         (2) 

Q8. How does the hair of certain animals help in keeping their bodies warm?                          (2) 

Q9. Charu kept an empty bottle made of plastic inside a refrigerator. After few hours, when she opened the 

refrigerator she found the bottle had collapsed. Explain the possible reason.    (2) 

Q10. Pradeep walks to his school which is at a distance of 3 km from his home in 30 minutes. On reaching he 

finds that the school is closed and comes back by a bicycle with his friend and reaches home in 20 minutes. 

What is his average speed in km/h?                                            (2) 

Q11. Write four safety measures that you should take during a cyclone?                                  (2) 

Q12. Deforestation may lead to floods. Why?                                                                            (2) 

Q13. Forests are our lifeline.” Write five sentences on this topic.                                              (3) 

Q14. Write various steps for processing fibres into wool.                                                           (3)  

Q15. Describe the life history of a silk moth with the help of a diagram.                                  (3) 

Subject: Social Science 
 

General Instructions: 

• The work should be done neatly and in a systematic way. 

• The given assignment is to be done in S.sc notebook. 

• Write all the questions along with the answers. 

• Questions 1-5 are MCQ 

• Questions 6- 10 are to be answered in 60 to 80 words. 

• Question 11-15 are to be answered in 80-100 words 

Choose the correct option- 

Q 1. The English set up a trading post in Surat in                                                                                          (1) 

     a) 1611 b) 1614  c) 1613 d) 1612             
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Q 2. A special identification or name that is associated with a product is called                                          (1) 

a) commercial advertising  b) social advertising  c) brand  d) consumerism           

Q 3. ________________ means that one fulfils her or his responsibilities.     (1) 

      a) Autonomy b) Impartiality c)   Accountability  d) Journalism  

Q 4. What is the main cause for the occurrence of tides?                                                                              (1) 

       a) Planetary winds                                  b) Rotation of earth                                                                       

       c) Gravitational pull                               d) Revolution of earth 

Q 5. The upper part of the sea wave is called ____________.                                                                      (1) 

       a) Crust                                                   b) Crest           

       c) Summit                                              d) Trough 

Q 6. What was the criteria on which towns were   classified? Explain any one town.                                  (2) 

Q 7. Mention about the life of the tribal nomadic group.                                                                               (2) 

Q 8. What are the basic ethical principles of media?                                                                                     (2) 

Q 9.  What are the objectives of advertising?         (2) 

Q 10. What is an ocean current? List the factors responsible for the development of ocean currents.          (2) 

Q 11. Why do we know so little about the tribal societies of the medieval period?                                      (3) 

Q 12. What was Masulipatnam also known as? Describe the work it is famous for even today.  (3) 

Q 13. Describe any three techniques used by the advisers to attract customers.        (3) 

Q 14. Write a short one any one of the following:                       (3) 

i) Orographic rainfall 

ii) Cyclonic rainfall                           

Q 15. Explain the working of a water cycle with the help of a well-labelled diagram.                              (3) 

Subject: Computer Science 

Multiple choice question (Q1-Q5):-               1*5=5 

Q1. Which of the following is not used with password attribute?      (1) 

i) name 

ii) size 

iii) maxlength 

iv) min 

Q2. Which element is used to create multi-line text input?       (1) 

i) text 

ii) textarea 

iii) submit 

iv) radio button 
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Q3. Which of the following isn’t one of the FrontPage 2003 views?       (1) 

i) XML view 

ii) Folders view 

iii) Navigation view 

iv) Page view 

Q4. You can write an HTML document using:        (1) 

i) Microsoft Word 2003 

ii) Notepad 

iii) FrontPage 2003 

iv) All of the above 

Q5. Which of the following items isn’t a valid HTML tag?       (1) 

i) <h1> 

ii) <font> 

iii) <h1/> 

iv) <b> 

Q6. Mention any two advantages of using Style Sheets in HTML.      (2) 

Q7. Write the syntax for the following with respect to HTML Forms:-     (2) 

i) to add a text box which contains the name up to 30 characters  

ii) to add a radio button to choose the option ‘Y’ for Yes and ‘N’ for NO. 

 

Q8. Correct the following statements: -         (2) 

i) The Standard Toolbar is situated at the top of the MS-FrontPage window. 

ii) We can work on different view in MS-FrontPage using the Format menu. 

Q9. What are templates in MS-FrontPage 2000? Name any two.      (2) 

Q10. Expand the following terms: -          (2) 

i) WYSIWYG 

ii) HTML 

Q11. Differentiate between the reports view and the hyperlink view in MS-FrontPage 2000.  (2) 

Q12. Explain the following Style Sheet properties in HTML: -      (2) 

i) Text-Align 

ii) Line Height 

Q13. What is the purpose of using the Method Attribute and Action Attribute in HTML Forms?   (2) 
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Q14.  Name the following views of MS-FrontPage 2000.       (2) 

  i)   ii)   iii)    iv)  

Q15. Write the HTML code for the following output screen shown below: -    (2) 

 

   


